
25
5 5= + =5 2⋅ 10= =

“Five raised to the second power”.
or

“Five squared”.



422 2 2 2= + + + 2 2 2 2= ⋅ ⋅ ⋅

233 3= + =

2 4⋅ = =

3 2⋅ =

3 3 3 3= ⋅ ⋅ ⋅43

=5x

9= ⋅

81=

=



Write      as a word statement. Write      as a word statement.32

“Two

or

76

“Six



42 2 2 2 2= ⋅ ⋅ ⋅ 16=
32 = =2 2 2⋅ ⋅
22 = =2 2⋅
12 = =2
02 = 1=1

43 3 3 3 3= ⋅ ⋅ ⋅ 81=
33 = =
23 = =
13 = =
03 = =

44 4 4 4 4= ⋅ ⋅ ⋅ 256=
34 = =
24 = =
14 = =
04 = =1

Any number raised to the zero power, except for 0, is equal to 1!
00 is



2 32 2⋅

2 2⋅

2 3x x⋅

x x⋅

2 3x x+

x x+


